3/4" X 1-1/2"

X 13GAGE MIN.

GALV. STEEL HORIZONTAL ANGLE.

©

2" GALV. STEEL
HORIZONTAL TRACK

16 GAGE OR 13 GAGE
BASED ON THE WEIGHT

OF THE DQOOR.

T
OPENING HEIGHT
(NOT OVER
DOOR HEIGHT)
L1l
]lﬂ

|-

3 GAGE MIN. GALV. STEEL
TRACK SPLICE OR FLAG BRACKET.

- FASTEN TO WQOD JAMB WITH
5/16" X 1—1/2"LAG SCREWS.
2" 16 GAGE GALV. STEEL
VERTICAL TRACK BOLTED TO
WINDLOAD TRACK BRACKETS WITH
1/4"-20 X 5/8" TRACK BOLTS
L SEE DETAIL "E”

\_|/

36"

DETAIL E

1/4" X 1/2" LONG
CARRIAGE ‘BOLT & NUT
USE EXTRA

1/4" X 3/4"
HEX HEAD SELF
DRILLING SCREW

16GA. GALV. STEEL
TOP BRACKET WITH
14GA. ROLLER HOLDER
SEE DETAIL D.

OPTIONAL SSB GLASS LIGHTS
3 WIDE STRUTS

ALTERNATE CONSTRUCTION
USING (2) STRUTS

A
/L _Iv

[ AN

3" 20 GAGE

(SEE DETAIL A)

/

$ X

E

<

A

USE (2) 1/4" X 3/4” — STRUT MOUNTED JUST BELOW TOP BRACKET.
SHEET METAL SCREWS. B
- ,c = DPTIONAL LOCK
o INTERIOR GALV. & PREPAINTED STEEL
B SKIN.
~ 27 GAGE. OPTIONAL:
4, 16 AR VENT
2) REQD
DETAIL D 2" ROLLER WITH 7/16" DIA. SHORT STEM. Wm%o%ﬁz MREA
TIRE: STEEL 7 BALL :
—{1.25" |—
14 GAGE GALV. STEEL
DECORATIVE SHORT EMBOSS, END HINGES ATTACHED 3
DECORATIVE LONG EMBOSS WITH (5) SCREWS.
OR FLUSH ON EXTERIOR SIDE. SEE DETAIL C.
SPRINGS).
STRUT MOUNTED ABOVE HINGE [—2.75" —
DETAIL A

1/4"X 3/4”

(3 BRACKETS EACH SIDE)

(8 X 7) DRILLING SCREWS.

GALVANIZED STEEL STRUT.
ATTACHED WITH 1/4" X 3/4"

STOP MOLDING NAILED EVERY 9”

D TYPE NAIL MIN. I/'A,”..

LONG HEX HEAD SELF
DRILLING SCREWS.

—
T

Ll

18 GAGE GALV.
ATTACHED WITH

A
N

STEEL CENTER
4 FASTENERS.

5% |
HINGE

13 GAGE GALV. STEEL WINDLOAD TRACK BRACKETS.

{4

SEE ABOVE

\\w._.mc._. MOUNTED BELOW #1 HINGE

POLYSTYRENE INSULATION
(LAMINATED TO INTERIOR AND
EXTERIOR STEEL SKIN)

13 GAGE GALV. STEEL BOTTOM BRACKET
ATTACHED WITH 3 FASTENERS

21" HIGH SECTION
EXTERIOR MATERIAL 27 GAGE
GALV. AND PREPAINTED STEEL

3" 20GA WIDE STRUT

LONG HEX HEAD SELF

(6 PER STRUT FOR 9* WIDE DOOR)

L.H.

16 GAGE

.

9" (SINGLE CAR)

NOTE: DOOR MUST BE INSTALLED
WITH EITHER AN ELECTRIC OPERATOR
OR A LOCK (MUST ENGAGE BOTH
TRACKS ON DOORS WITH EXTENSION

a2
mz_uow,_u/

~——USE ONE EXTRA SELF DRILLING SCREW

THROUGH TAP

LEAF OF

HINGE,

END CAP AND HINGE PLATE.

|
|

CENTER HINGES
(1) COLUMN

FOR SPACING. FASTEN TO WOOD JAMBS WITH 5/16" X 1-1/2" s SEE DETAIL F _um|_|>__l O 9 9
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS. SEE DETAIL "E”. NOTE: GLAZING DOES NOT SATISY PACT @ VA w
SECTION B—=RB — DEBRIS REQUIREMENTS IN FBC FL 15078
SECTION A—A

4 SECTION P.0. BOX 8915

LITTLE ROCK, AR
NOTE: ALL NON—DESCRIPTIVE FASTENERS SHOWN TO BE _S_!Z—U“Av’ DOOR | 72210-s915
1/4"-20 X 5/8" HEX BOLTS & NUTS OR (501) 562—-1872
1/4" X 3/4" LONG HEX HEAD SHEET METAL SCREWS. :
MODELS:
P.SF. TABLE /790
DOOR SIZE DESIGN PRESSURE | TEST PRESSURE SART NAME.
@31: _._.m_o_.:s POSITIVE_| NEGATIVE | POSITIVE | NEGATIVE T Seee TE WINDLOAD RESIDENTIAL SANDWICH DOOR
9’'-Q"|7'=0"|+31.2|-35.8|+46.8|—-53.7 3121 FAIRGATE DR, TOLERANCE W3 B
Carrolliton, TX 75007 B |—n2/15/11| RLB
TX—PE 56308—F—2203 FRAC.A 1/64"

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES  |FL-PE-51737 A | 2866 |3/10/08] RLB |pRA“L 034 | NEXT LEVEL DATE: DWG. NO

LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108—05. (972) 492-9500 ANG. £ 1" 11/1/07 ‘ ‘
—— — 2851 (11/1/07| RLB : 99-B-08/

rofessional Engineer’s seal SCALE PLOT SCALE DRN. BY
DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS. provided only for yerification of REV.|E.C.N. | DATE: | APPROV. BH SHT 1 OF 4




3/4" X 1-1/2" X 13GAGE MIN.
GALV. STEEL HORIZONTAL ANGLE.

O

2" GALV. STEEL
HORIZONTAL TRACK

16 GAGE OR 13 GAGE
BASED ON THE WEIGHT
OF THE DOOR.

, SSEEt WETAL SCREMS.

OPENING HEIGHT
(NOT OVER
DOOR HEIGHT)

\

13 GAGE MIN. GALV. STEEL
TRACK SPLICE OR FLAG BRACKET.
FASTEN TO WOOD JAMB WITH

5/16" X 1-1/2"LAG SCREWS.

2" 18 GAGE GALV. STEEL
VERTICAL TRACK BOLTED

TO TRACK BRACKETS WITH
1/4"=20 X 5/8” TRACK BOLTS

o]

\

STOP MOLDING NAILED EVERY 12"
D TYPE NAIL MIN.

ou:
DECORATIVE SHORT EMBOSS,
DECORATIVE LONG EMBOSS
OR FLUSH ON EXTERIOR SIDE.
(9 X 8)
(3 BRACKETS EACH SIDE)
SEE DETAIL E

I/a

—
T 1T I Nw.
LAG SCREW
18 GAGE GALV. STEEL CENTER HINGE > .
ATTACHED WITH 4 FASTENERS. w\ém X \_IA\M
13 GAGE GALV. STEEL WINDLOAD TRACK BRACKETS. SEE ABQVE

FOR SPACING.
LAG SCREWS & WASHERS.

FASTEN TO WQOD JAMBS WITH 5/18" X 1-1/2"
PREPARATION OF JAMBS BY QTHERS.

SEE DETAL "E".

NOTE: ALL NON-DESCRIPTIVE FASTENERS SHOWN TO BE

DETAIL D

24" HIGH SECTION
EXTERIOR MATERIAL 27 GAGE
GALV. AND PREPAINTED STEEL

1/4” X 1/2” LONG
/" CARRIAGE 'BOLT & NUT

]

U1

N:

SECTION A—A

1/4°-20 X 5/8" HEX BOLTS & NUTS OR

1/4” X 3/4" LONG HEX HEAD SHEET METAL SCREWS.

SECTION B-B
P.S.F. TABLE
DOOR SIZE DESIGN PRESSURE | TEST PRESSURE
WIDTH | HEIGHT | POSITIVE | NEGATIVE | POSITIVE | NEGATIVE
9'—-0"8-0"|+2/.0|-30.4 |+40.5 |-45.6

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05.

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS.

John E Scates PE
3121 FAIRGATE DR.
Carrollton, TX 75007
TX—PE 56308-F—2203
FL-PE—51737

{972) 492-9500

Professional Engineer’s seal
provided anly for verification of
windload construction details.

16GA. GALV. STEEL
TOP BRACKET WITH
14GA. ROLLER HOLDER
SEE DETAIL D.

2” ROLLER WITH 7/16" DIA. SHORT STEM.
" TRE: STEEL 7 BALL

14 GAGE GALV. STEEL
END HINGES ATTACHED
WITH 4 SCREWS SEE DETAIL C

INTERIOR GALV. & PREPAINTED STEEL

SKIN.
27 GAGE.

GALVANIZED STEEL STRUT.
ATTACHED WITH 1/4" X 3/4"
LONG HEX HEAD SELF
DRILLING SCREWS.

(6 PER STRUT FOR Q' WIDE DOOR)

POLYSTYRENE INSULATION
(LAMINATED TO INTERIOR AND
EXTERIOR STEEL SKIN)

STRUT MOUNTED IN CENTER BOTTOM SECTION

13 GAGE GALV. STEEL BOTTOM BRACKET
ATTACHED WITH 3 FASTENERS

STRUT MQUNTED OVER LOWER LEAF
OF #2 HINGE SEE DETAIL G

STRUT MOUNTED BELOW TOP ROLLER CARRIER

—|1.25" |—

— 275" —~|
DETAIL A

3" 20GA WIDE STRUT

2" STEEL ROLLERS

UPPER STRUT REF.——|

/)

OPTIONAL SSB GLASS LIGHTS

ALTERNATE CONSTRUCTION

USING (2) STRUTS

P

3 WIDE STRUTS i
3" 20 GAGE
(SEE DETAIL A)

B

OPTIONAL: LOCK \\

\th’ | : ]

=

\

OPTIONAL:

Lt

9" (SINGLE CAR)

NTER HINGES (1) COLUMN

4 SECTIONS

NOTE: DOOR MUST BE INSTALLED
WITH EITHER AN ELECTRIC OPERATOR
OR A LOCK (MUST ENGAGE BCTH
TRACKS ON DOORS WITH EXTENSION

SPRINGS).

of O
~

/ /

\

: \

H\Y
2
/\/\_ L.H.

DETAIL G

NOTE: GLAZING DOES NOT SATISFY IMPACT
DEBRIS REQUIREMENTS IN FBC

16 GAGE ENDCAP

FL 15078

9 X 8

P.O. BOX 8915
LITTLE ROCK, AR
Y winpsor poor |15
(501) 562-1872
MODELS:
790
PART NAME:
WINDLOAD RESIDENTIAL SANDWICH DOOR
W3 B
B |— f2/16/11 RLB TOLERANCE
A | 2866 (3/10/08] RLB |RCLUOSETNEXT (EVEL |  oate: DWG. NO.
2851 [11/1/07] RLB |AN6- £ * 11/1/97  |9gg—B—087
ReVE.CN.| DATE: [APPROV.| SonE | PHOT SAE | PRRL T e 2 oF 4




(3) 1/4" CARRIAGE BOLTS

3/4" X 1=1/2" X 13GAGE MIN.

i

2" GALV. STEEL

GALV. STEEL HORIZONTAL ANGLE.
HORIZONTAL TRACK
16 GAGE OR 13 GAGE \\ﬂmw %@
BASED ON THE WEIGHT 1/4” X 3/4°
@ OF THE DQOR. SHEET METAL EXTRA /
N SCREWS 1/47 X 3/4" w0

\
13 GAGE MIN. GALV. STEEL
TRACK SPLICE OR FLAG BRACKET.
FASTEN TO WOOD JAMB WITH
5/16” X 1-1/27LAG SCREWS.

HEX HEAD SELF
DRILLING SCREW

DETAIL D

13 GAGE GALV. STEEL TOP BRACKET
WITH 10 GAGE ROLLER HOLDER.

—]1.25" |—

|
l__ 7IF N

f— 2.75" — !
DETAIL A ]

3” 18GA WIDE STRUT

NQTE THAT ROLLER HOLDER
CURL IS TURNED DJWN.

2" 16GA. GALV. STEEL SEE DETAL D.

VERTICAL TRACK BOLTED

TO TRACK BRACKETS WITH STRUT MOUNTED BELOW

1/4"-20 X 5/8” TRACK BOLTS

/ / ; TOP ROLLER CARRIER °9)

74" (16 X B)
\|wmm DETAIL E INTERIOR GALV. & PREPAINTED STEEL
SKIN,
DETAIL E 27 GAGE. w@
OPENING HEKGHT ] (16 X 7) "
(NOT QVER 63" (16 X 7 (4 BRACKETS EACH SIDE) 2" ROLLER WITH 7/18“ DIA. LONG STEM.
DOCR Im_OI._.u 54" M._m X ww A._m " mv TIRE: STEEL 10 BALL.
(5 BRACKETS EACH SIDE)
A STRUT MOUNTED OVER LOWER LEAF
4" (16 X 7 OF HINGE (DETAL G)
39" M_m X mw
— T STRUT MOUNTED ABOVE HINGE
21" (16 X 7 DECORATIVE SHORT EMBOSS. (BETAL ©)
o4" M‘_m X mw DECORATIVE LONG EMBOSS
1 14 GAGE GALV. STEEL

END HINGES ATTACHED

STOP MOLDING NAILED EVERY 6"
D TYPE NAIL MINIMUM

b L
7 7 :
LAG SCREW
m 5/187 X 1-1/2"
18 GAGE GALV. STEEL CENTER HINGE
ATTACHED WITH 4 FASTENERS.
13 GAGE GALV. STEEL WINDLOAD TRACK BRACKETS, SEE ABQVE

FOR SPAGING. FASTEN TO WOCD JAMBS WITH 5/16” X 1-1/2"
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS.

SECTION B-B

SEE DETAIL "E".

21
EXTERIOR MATERIAL 27 GAGE
GALV. AND PREPAINTED STEEL

NOTE: ALL NON—DESCRIPTIVE FASTENERS SHOWN TQO BE
1/47-20 X 5/8" HEX BOLTS & NUTS OR

1/4" X 3/4" LONG HEX HEAD SHEET METAL SCREWS.
P.S.F. TABLE
DOOR SIZE DESIGN PRESSURE TEST PRESSURE
WIDTH HEIGHT | POSITIVE | NEGATIVE | POSITIVE |NEGATIVE
16°=0"|7'-0"[+26.0 | —29.1 |+39.0 |-43.7
16’-0"|8=0"|+26.0 |—29.1 |+39.0 |-43.7

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05.

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS.

N.v
OR FLUSH ON EXTERIOR m_um/

MO

DRILLING

” HIGH SECTION

SECTION A—A
4 SECTION

John E Scates PE
3121 FAIRGATE DR.
Carrollton, TX 75007
TX—PE 56308-F—2203
FL—PE-51737

(972) 492-9500

Professional Engineer’s seal
provided only for verification of
windload construction details.

WITH 6 SCREWS. SEE DETAL C & G.

o —

1/4°X 3/4" LONG HEX HEAD SELF

GALVANIZED STEEL STRUT.

ATTACHED WITH 1/4” X 3/4"

LONG HEX HEAD SELF

DRILLING SCREWS.

(10 PER STRUT FOR 16" WIDE DOOR)

POLYSTYRENE INSULATION
{LAMINATED TO INTERIOR AND
EXTERIOR STEEL SKIN)

ATTACHED WITH 3 FASTENERS

STRUT MOUNTED OVER LOWER LEAF
QOF #2 HINGE (DETAL ) — |

SCREWS.

STRUT MOUNTED ABOVE wf HINGE —— |
(DETAIL G)

o B

19-1/4"
SECTION

SECTION C-C

6 WIDE STRUTS

3" 1

(SEE DETAIL A)

8 GAGE

B

OPTIONAL SSB GLASS LIGHTS

ALTERNATE CONSTRUCTION
USING (2) STRUTS

<P

<3
/<>
=> =

774

:

N\

16" (DOUBLE CAR)

\__mxsy

OPTIONAL
LOCK

OPTIONAL:

4 X 1B AIR VENT

4) REQ'D

120 SQ. IN. MIN.

UTAL OPEN AREA.
8 WIDE STRUTS
3" 18 GAGE

(SEE DETAIL A)

NOTE: DOOR MUST BE INSTALLED

WIMH EITHER AN ELECTRIC OPERATOR

OR A LOCK (MUST ENGAGE BOTH

TRACKS ON DOORS WITH EXTENSION

SPRINGS).

5 SECTION

OPTIONAL:
4 X 16

. IN. MIN.
QTAL OPEN AREA.

QPTIONAL
LOCK

B

OPTIONAL SSB GLASS LIGHTS

4 SECTION

|
/‘ CENTER HINGE

% COLUMNS

ALTERNATE CONSTRUCTION
USING (2) STRUTS

<P

<p|

V74 V774

L O
16" (DOUBLE CAR) |

K

TYP. LOWER STRUT REF.

USE TWO EXTRA SELF DRILLING
SCREWS THROUGH TQF AND

BOTTOM LEAF OF HINGE,

END CAP AND HINGE PLATE.

TYP. UPFER STRUT REF, ———

27 STEEL ROLLERS

(LONG STEM)

5 SECTION

|
/I CENTER HINGE

3 COLUMNS

13 GAGE ENDCAP

by
S

1 /
(@] 7/
\ \
[o] /
/

1 |
oo y
/D\ A

/

/
/

DETAIL C

DETAIL G
NOTE: GLAZING DOES NQT SATISFY IMPACT \_ @ X m
DEBRIS REQUIREMENTS IN FBC FL 15078
M |
_ P.0. BOX 8915
W WINDSOR DOOR |.1)5 50k
72219-8915
(501) 562-1872
MODELS:
790
PART NAME:
WINDLOAD RESIDENTIAL SANDWICH DOOR
B |— h2/15/11] RLB | TOLERANCE| WS B
A | 2866 |3/10/08] RLB |FRAC-L1/64TREXT (EVEL | DATE: DWG. NO.
2851 |11/1/07| RLB AN = T 1/1/97 |99 -B-D&7
Rev]E.CN.| pate: [aPPrOv.] SenE |0 Y| PRR T [shT s oF 4




3/4” X 1=1/2" X 13GAGE MIN.
GALV. STEEL HORIZONTAL ANGLE.

@

q

2" GALV. STEEL
HORIZONTAL TRACK

16 GAGE OR 13 GAGE
BASED ON THE WEIGHT

OF THE DQOOR.

G GAGE MIN. GALV. STEEL
:ﬁox SPLICE OR FLAG BRACKET.
FASTEN TO WOOD JAMB WITH
5/16" X 1—1/2"LAG SCREWS.

2" 16 GAGE GALV. STEEL

VERTICAL TRACK BOLTED TO

WINDLOAD TRACK BRACKETS WITH

1/4"=20 X 5/8" TRACK BOLTS

1/4" X 3/4" (3) 1/4” CARRIAGE BOLTS
SHEET METAL SHAFT COLLAR

A |
M (8

EXTRA , L 5/8”"

Y ®®
DRILLING SCR DETAIL D 13 GAGE GALV. STEEL TOP BRACKET

\‘mmm DETAIL "E"

OPENING HEIGHT
(NCT OVER
DOOR HEIGHT)

63" (16 X
58" (16 X
47" (16 X 7
44" {16 X 8

_

=
74 emxmu ; /

N

NOTE THAT ROLLER HOLDER
CURL IS TURNED DQWN.
SEE DETAIL D.

SKIN.
27 GAGE.

®
DETAIL E ﬁ@
(16 X 7) 2" ROLLER WITH
(5 BRACKETS EACH SIDE) 7/16" DIA. LONG STEM
WITH SHAFT COLLAR.
(18 X B) TIRE: STEEL 10 BALL.
(6 BRACKETS EACH SIDE) SEE DETAIL "C".

HINGE.

STOP MOLDING NAILED EVERY 6"
D TYPE NAIL MIN.

Le

—
—

18 GAGE GALV. STEEL CENTER HINGE
ATTACHED WITH 4 FASTENERS.

13 GAGE GALV. STEEL WINDLOAD TRACK BRACKETS.

a”

SEE ABOVE

FOR SPACING. FASTEN TO WOQD JAMBS WIMH 5/18" X 1—1/2"
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS.

SECTION B-B

NOTE: ALL NON-DESCRIPTIVE FASTENERS SHOWN TO BE
1/4"-20 X 5/8” HEX BOLTS & NUTS OR

1/4" X 3/4" LONG HEX HEAD SHEET METAL SCREWS.

P.S.F.

TABLE

DOOR SIZE DESIGN PRESSURE

TEST PRESSURE

WIDTH | HEIGHT | POSITIVE | NEGATIVE

POSITIVE | NEGATVE

18'-0"7’-0"[+31.2 |[-34.0

+46.8 [—51.0

N18'-0"8"-0"|+31.2 |[—34.0

+46.8 [—51.0

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES FL-PE-31737

LISTED IN THE TABLE ABQVE VIA TESTING TO ANSI/DASMA 108-05.

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS. provided only for verification of

END HINGES ATTACHED
WITH (6) SCREWS.
SEE DETAIL C.

#2 HINGE (SEE DETAL G)

DECORATIVE SHORT EMBOSS,
DECQRATIVE LONG EMBOSS
OR FLUSH ON EXTERIOR SIDE.

DRILLING SCREWS.

LONG HEX HEAD SELF
DRILLING SCREWS.
(10 PER STRUT)

SEE DETAL "E".

#1 HNGE (SEE DETAIL G)

PAOLYSTYRENE INSULATION
(LAMINATED TO INTERIOR AND
EXTERIOR STEEL SKIN)

21" HIGH SECTION

EXTERIOR MATERIAL 27 GAGE
GALV. AND PREPAINTED STEEL

_ 13 GAGE GALV. STEEL BOTTOM BRACKET

! ) ATTACHED WITH 2 FASTENERS
SEE DETAIL "F"

SECTION _A—-A

John E Scates PE
3121 FAIRGATE_DR,
Carrollton, TX 75007
TX—PE 56308-F-2203

(972) 482-9500
Professional m:ﬂ.:oowm seal

windload censtruction details.

WITH 10 GAGE ROLLER HOLDER.

STRUT MOUNTED OVER LOWER LEAF OF

1/4°X 3/4" LONG HEX HEAD SELF

STRUT NOUNTED ABOVE #1 HINGE
\I SEE DETAIL G.

GALVANIZED STEEL STRUT,
/>._._.>OImo WITH 1/4" X 3/4

I\\ﬂni MOUNTED QVER LOWER LEAF OF ——

STRUT MOUNTED OVER BOTTOM BRACKET ——|

STRUT MOUNTED BELOW TOP ROLLER O>_un_m_~|\
INTERIOR GALV. & PREPAINTED STEEL

I\\w.:ﬁ:. MOUNTED OVER LOWER LEAF OF

\lm._._mc._. MOUNTED ABOVE HINGE (DETAL G)
14 GAGE GALV. STEEL

— |

19-1/4"
SECTION

SECTION C-C

—

7 _WIDE _STRUTS

\m

OPTIONAL SSB GLASS LIGHTS

R ST

_\\\\_ Vo ve 7,

T APk |

—{1.25"|— 3" 18 GAGE
_ (SEE DETAL A)
ux
S f— 275" —]
N~ DETAIL A OPTIONAL: LOCK

3" 18GA WIDE STRUT OPTIONAL:

NOTE: DOOR MUST BE INSTALLED
OR A LOCK (MUST ENGAGE BQTH

5/8" SPACE

WITH EITHER AN ELECTRIC OPERATOR
TRACKS ON DOCRS WITH EXTENSION

DETAIL C

120 SQ. IN. MIN.
OTAL OPEN AREA.

9 WIDE STRUTS

3" 18 GAGE
(SEE DETAIL A)

B 7
£ A i)
oA zzA WA izA
L= A
18" (DOUBLE CAR) _
4 SECTION CENTER HINGES
(3) COLUMNS
ALTERNATE CONSTRUCTION
QPTIONAL SSB GLASS LIGHTS USING mmv STRUTS
—C yi

o,

2" STEEL ROLLERS
(LONG STEM)

NOTE: GLAZING DOES NOT SATISFY IMPACT
DEBRIS REQUIREMENTS IN FBC

=

SPRINGS).
B
OPTIONAL: rooxl\\ w g g m/ m_
QPTIONAL:
4 X 16 AR VENT pAea e
wé REQ'D \l\ . 7
120 SQ. IN. MIN. ,
OTAL OPEN AREA. _ 18 AUOCW_IN O>_Nv
SHAFT COLLAR
CENTER HINGES
- 5 SECTION () COLUMNS
Ny 13 GAGE ENDGAP TYP. LOWER STRUT REF. \\ SHAFT COLLAR
. 5 /\/A \
o 8] | 7
USE TWO EXTRA SELF DRILLING
A SCREWS THROUGH TOP AND y \ /
BATTAOM LEAF QOF HINGE, [e) I /
END CAP AND HINGE PLATE. /
\
5/8" SPACE— ®
»n »
DETAIL F

/
TYP. UPPER STRUT REF. I/y/@\\ /
[ O \\
= |—s/8"
DETAL G,
18 X 7°
FL 15078] 18 X &’

5 SECTION

W wnpsor DooR

P.0. BOX 8915
LITTLE ROCK, AR
72219-8915

(501) 562—1872

MODELS:

790

TOLERANCE (W3 B

PART NAME:
WINDLOAD RESIDENTIAL SANDWICH DOOR

H,
RLB |oeesi'44 T NexT (EVEL | DATE:

RLB ANG, = 1°

11/1/07

DWG. NO.

B |AM\Aw\: RLB
A | 2866 [3/10/08

2851 [11,/1/07
REV.|E.C.N.| DATE: |APPROV.

SCALE PLOT SCALE DRN. BY

BH

99-B-087

SHT 4 OF 4




